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OVERVIEW

The X732 reasons that since the liability of a X for X" is derived from a w"w,! so
just as a W"w is Mwd for 0°%¥22 X™3, S0 too is a MWD X for 2°7¥22 K™ The X
asks, this is fine if we assume the rule of 17, however if we do not say 7, how can
we know the M of a PR by 2°2¥22 R™3. Our Mmdoin clarifies the question.

nvoIN asks:
- 29990 Y9 79959 NYT NPT N (x,73 47 xnp x32) 9N 1853 9931 H1dN

It is astounding! For in ®3777 739> P2 it is evident that wherever the ' would

not be pointless if we apply the rule of 7 -
- 379990 XY N1 197 13999 Nnaby s91994

That according to everyone we will apply 7; and here the 1"p will not be
pointless if we say 7!

N1D0IN answers:
- 799513 NYT NP1 199N 219997 XAPI¥M MINYT NPYD ONNT DIVN 99 U

And one can say; since there the X723 initially assumed that they argue whether

we apply 17 or not, even in a case where the 1"'p is not pointless, therefore -
- 9913 NN “9INP

The X1 says here K357, etc.

moon shows us a similar case, where the X711 asks according to an unsubstantiated X":7:
= (37 97 19p%) JAPNNAY (3,50 97) NP P92 D9YY JNIYN 33 29

And we also find something similar previously in the first 99 and also later in

Bapnn PIo -
= 29N YYah 1Y PHON NP SHYNT MINT INPY NN MINDT

' A w"w (where we are lenient, for he) is not liable for 7nm 72w, but nevertheless he is liable for X™3, so a X
(where we are stricter) who is liable for in»1 712w, should certainly be liable for X",
2 At times, if we were to implement the 17 restriction, the 1"p would not teach us anything (it would be pointless);
for the limited rule would have been known without the 1"p. See the X3 there for an example.
3 Even if we were to say 17 here, so the 2Xw would be 705 by 0°9v23 X", the 1"p is still effective that 0°9ya3 X5
the %W would be 21 for X", Therefore all should agree that we apply the 17 rule!
4 In truth all agree X3pon> that here in this case we say 1°7 (since it is 1"p 7792 X?), however since there was a X"
(elsewhere) that even where 1"p 719 X? we do not say 17, therefore the X3 here asks how are we to understand the
o of PXW by 2°2¥22 8™ according to that X",
5 See w"wn who inverts the X073, W'y,
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Where the X3 states; ‘it is satisfactory according to the one who maintains

that the buyer may remove the creditor, by paying off the debt® -
= $9139109 NN INI 19D PHON 8N NDT 799NRT INNY NON

However, according to the one who maintains that ;79 p®gn "3% X, what can

we say’ -
= 99139130 (x,x¥ 97 Mana) MW NONY ) WA NIPIYN 9207 NNIN 92 9949 139N

And this (the 7"» that pon ¥ &?) is referring to X»m 92 »9, who initially

maintained in the beginning of »yw1 757w % P79 that we should say -
29999 9N JNNY NN T99NRD 991 192N 291 INP KDY 19D YOI K81 XYY

That the 11> cannot be p®o» the 71"va, however n'"'2n did not retain this view,
but rather retracted and agreed that "> % pY0n °¥n, but nevertheless the X nx

asked, ‘but according to the 7'"'» who maintains, etc. "> 7> phon *xn X9, what can we
say’. It is evident from there that the X7mx can ask even from a X", which is ultimately not
sustained. Here too the X773 asks, 17 1mKR R?7 7"n% K98, even though in this case (where &9
1" 779°1) all eventually agreed that we implement 17, however since there was a X" that we do
not implement 1°7 (even where 1"p 779 XY), therefore we ask according to this X™7.

SUMMARY
The X773 attempts to reconcile an issue even with a X", which is not sustained.

THINKING IT OVER
Is mooIn proof stronger according to our X071, or according to the X072 of the
w"w?10

¢ The case there is where 127 lent a hundred 17 to Jwnw (with a “0w), and afterwards w»w sold his field (which
was worth a hundred 1) to 7. When the payment was due and 11¥nw cannot pay, so j2387 goes to collect the field.
which is 7219wn to him, from "%. The issue there is whether "%, the buyer can pay off 72187 the debt with cash and
retain the field for himself (7"v2% 7% P02 NP7 *¥n), or not (he must relinquish the field). The ruling is that poon *¥n
n"yab b

7 See footnote # 5.

8 1t would be difficult to establish the ruling of the ®m3 there according to the n"v2% 772 pon "xn &Y 1.

? According to the w"wA (see footnote # 5) the X071 here should be 1817 X237 nRp (instead of 1¥M? R9X KP).

10 See footnote # 5, 7, & 9.
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